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[NOACHUTEJIBHAA 3AIIMCKA

OOydeHre WHOCTPAaHHOMY SI3BIKY SIBJISIETCSI COCTAaBHOM 4acThiO Ipoliecca
MOATOTOBKU CHEIUAIHNCTA, KOTOPBI JOJKEH aKTUBHO BJAJ€Th MHOCTPAHHBIM SI3bIKOM
KaK CpEICTBOM OOIEHUS B TMOBCEAHEBHOW KH3HU U B MIpodhecCHOHATBHOM
nesitenbHOCTU. [Ipu 3a0uHOM (popme 00yueHUH B HESA3BIKOBBIX TEXHUKYMax BIIaJICHUE
AHTJIMICKUM SI3IKOM O3HAYaeT:

— YMEHHE CaMOCTOSITEJIbHO YUTATh CO CIOBapeM JIUTEpaTypy oOIIe ObITOBOTO
XapakTepa M MO CHEHUATbHOCTH MpoPuiIsi ¢ TeMm, 4YTOObl Ha OCHOBE
MpUOOPETEHHBIX B BYy3€ 3HAHWM, YMEHHWW W HaBBIKOB H3BIICKaTh W3 HEE
MOJIHYIO M HY)KHYIO HH(POPMAITUIO ¥ TIPU HEOOXOUMOCTH TIEPEBOIUTH TEKCTHI
Ha POHOM S3BIK;

— YMEHHE CJieJIaTh MOHOJIOTHYECKOe coolIieHre B pazmepe 18 - 20 ¢pa3 Ha Bce
TEeMbI IPOGUIBLHOTO XapaKTepa, IPeyCMOTPEHHBIE IPOrPaMMON;

— YMEHHE BecTH Oecely Aualior Ha O6a3e u3ydeHHbIX TeM B oobeme 9 - 10 dpas
CO CTOPOHBI 00OUX COOECETHUKOB;

— YMEHHE€ BBINIOJIHATH NMUCHMEHHBIE 3aJaHUsl HAa 0a3e M3Y4YEHHOro JIEKCHKO-
rpaMMaTHYEeCKOro Marepuaia ¢ [PUMEHEHHEM CHEUUaIn3UpPOBAHHOU
JUTEPATYPBHI.

O0siactb npumMeHenuss mnporpammbl. Pabouas mnporpamma  y4eOHOU
JUCLUIUIMHBL SIBJIIETCA YacCThIO OCHOBHOM 00pa3oBaTEIbHOM MPOTrpaMMbl CpPEIHETO
npodeccuoHanbHOro 00pa30BaHusl MO MOJArOTOBKE CHELMAIUCTOB CPEIHEro 3BEeHa IO
cnermanbHocT (08.02.09 MoHTaxX, Hajaaka M IKCIUTyaTalus 3JIEKTPOOOOpYAOBaAHUS
MIPOMBITIUICHHBIX M TPAKIAHCKUX 3aHMM (0a30Basi MOJATOTOBKA).

MecTO TUCUMILIMHBI B CTPYKTYpPe OCHOBHOM 00pa30BaTe/IbHON NMPOrpaMMBbl.
VYyeonas mucuuruimaa OI'C3.03. HWHocTpaHHBI $3bIK B MPOQECCHOHATBLHOMN
NesATeNbHOCTH (AaHTIMUCKUI) SABJISETCS 00s3aTeNBbHOM 4YacThio  00pa3oBaTEIbHOM
OporpaMMbl  CpeAHEro  Mpo(ecCHOHANbHOTO  O0pa3oBaHUSA IO OJITOTOBKE
CIICIMANIMCTOB cpeaHero 3BeHa no cnenuainbHocTu 08.02.09 MoHTax, Hanaaka u
AKCIUTyaTalys 3JEKTPOOOOPYAOBAHUS MPOMBIIIJIEHHBIX U TPAXKIAHCKUX 3[JaHUN BXOJUT
B 00IMI T'YMaHUTAPHBIN U COLMATIBHO-D)KOHOMUYECKUH ITUKJL.

[enun u miiaHupyemble pe3ynbTaThl OCBOCHUS YHEOHOM U CIUTUIMHBI:

3HaHusA YMeHust
— TpaBWia IOCTPOEHHUS] TPOCTBHIX M CIOXHBIX | — TOHUMATh OOLIMHA CMBICI YETKO MPOM3HECEHHBIX
MpeUIoKeHUH Ha TPpo(ecCHOHATbHBIE TEMBI; BBICKa3bIBaHUI Ha W3BECTHBIC TEMBI
— OCHOBHBIE OONICYNOTPEOUTENBHBIE TJIATOJBI (mpodeccroHanbHbBIE U OBITOBEIC);
(bbiTOBas M MpodeccOHANbHAS JIEKCHKA); — TIOHHUMATh TEKCTBI Ha 6a3oBbIe
— JIGKCUYECKMH MUHUMYM, OTHOCSAUIMICS K npoeccuoHadbHBIE  TEMBI ~ y4acTBOBaTh B
ONKWCAaHUIO MPEAMETOB, CPECACTB M IIPOLIECCOB Avajiorax Ha 3HAKOMBIC o0ume A
npodecCUOHANBHON AEATENLHOCTH; podecCuoHANbHBIE TEMBI;
— 0cOOEHHOCTH MPOU3HOIICHNUS; — CTpPOWTH TPOCTHIE BBICKAa3bIBaHHSA O cebe W O
— IpaBHJIa YTECHHUSI TEKCTOB HpO(bGCCHOHaHLHOﬁ cBOEH HpO(i)eCCHOHaHBHOﬁ ACATCIIBHOCTHU KPAaTKO
HAIpaBJIEHHOCTH. 00OCHOBBIBaTb M OOBSCHUTH CBOM JACHCTBHSA
(Tekymme W IUTaHUPYEMBbIE); THUCATh MPOCTHIC
CBSI3HBIE  COOOLIEHHMS Ha  3HAKOMbBIE WM
HHTEpecyrolue NpodecCuOHaNbHbIE TEMBI;
— TIpaBWJa TIOCTPOEHHMS NPOCTBIX U  CIOKHBIX
MpeUI0KEHUH Ha MPOEeCcCHOHATBHBIC TEMBI.




VYyeOnas aucrumuinHa OI'CD.03. MHocTpaHHBINM SI3bIK B NMPOQECcCCHOHANTBHON
AESTeNIbHOCTH (AHIIMHUCKHI) CrmocoOCTBYeT (OPMUPOBAHUIO CIEAYIOIIUX OOLIHUX

KOMITETeHL{Ui:
Kon HaumenoBanue pe3yJibTata 00y4eHHus
OK 1. BeiOupare  cmocoObl  pemieHuss  3aad  OpOQECCHOHATBHOM  JAEATENbHOCTU

IMPUMEHUTEIIBHO K PA3JIMYHBIM KOHTCKCTAaM.

OK 2. Ocy1miecTBIATh TOUCK, aHAJIM3 M HMHTEPHpETAlnio WH(OpMAIMH, HEOOXOTUMON s
BBINOJIHEHUS 3a/1a4 IPO(ECCHOHAILHON AEATEIbHOCTH.

OK 3. [InmanupoBaTh M peamu30BBIBATH COOCTBEHHOE NPO(PECCHOHATBHOE M JHMYHOCTHOE
pa3BUTHE.

OK 4. PaboTats B KOJUIEKTUBE M KOMaHze, 3(pPEeKTHBHO B3aUMOJCHCTBOBATH C KOJUIETAMH,
PYKOBOJICTBOM, KJIIMEHTAMHU.

OK'5. OcCymiecTBIATh YCTHYIO M MUCBMEHHYIO KOMMYHUKAIIMIO HAa TOCYAAPCTBEHHOM SI3BIKE
Poccuiickoit ®enepauun ¢ ydyeToM OCOOEHHOCTEH COLMAIBHOIO U KYJIBTYPHOI'O
KOHTEKCTA.

OK 9. Vcnonp30BaTh MHPOPMAIIMOHHBIE TEXHOJIOIMH B IPO(PECCHOHATBHOMN NeSTEIbHOCTH.




1 COJEPXXAHUE YYEBHOU JTUCLIUITJIMHEI

KontpoabHasi pagora Ne 4 (uerBepThblii Kypc). UTOOBI IPaBHIBLHO BBITIOJIHUTH
KOHTpOJIbHOE 3anaHue Ne 4, He0OXOAMMO YCBOUTH CIIEIYIOUIUE pa3/eiibl U TEMbI Kypca
AHTJIMKCKOTO SI3bIKa B COOTBETCTBUU C paboyeld MporpaMMoil y4eOHOU JUCHUTIINHBI.

Pa3znen 3. BBoaHblii Kypc npo¢)ecCHOHAIBHOI0 AHTJIHICKOIO SA3bIKA
Tema. /lestoBOM aHIJIMACKUHA
Conep:xxanne y4eOHOro MarTepuaja

Pabota c Tekctamu «Preparation for studies abroad» «Covering letter» «Searching
a joby, a TaKKe BHITIOJHEHHE JIEKCUKO- TPAMMATHUECKUX YITPAKHEHUH.

Tema. Hay4yHo-TexXHH4YeCKHUIl IPpoOrpecc
Conep:xxanue y4eOHOro MarTepuaJja
PaGota ¢ Tekctamu- «Business trip», «Currency Exchange», a Tak:xe BBIITOJTHEHHUE
JIEKCUKO- TPAMMATUYECKUX YIIPAKHEHUI.
PaboTa 1o u3y4eHHI0 MOAAIBHOCTH TJIaroJIOB aHTIUHCKOTO SI3bIKA, BBHITOJHEHHE
TPEHUPOBOYHBIX YIIPAKHEHUM.
Tema. CuioBble HCTOYHUKH

Conep:xxanue y4eOHOro MarTepuaja

PaGora ¢ Tekcramm- «Power sources», «LoOgic Circuits», BBIIOJHEHHE
TEMATHYECKHUX JIEKCUKO- IPAMMATHYCCKUX YIIPAKHCHHIHA.

Pasznea 4. IlpodeccnonaibHO- HANIPABJIEHHBII MO1YJIb
Tema. JaekTpudeckue npuOOPHI U NPOPUIbHAS TEXHUKA

Conep:xxanne y4eOHOro MarTepuaja

Pabora ¢ tekcramu- « Thermionic valves», «The tetrode and pentode», «The P-N
junctiony, a Take BBINOJHEHHE JIEKCUKO - IpaMMaTHUYSCKUX yrpakHeHHi. Pabota ¢
poQeCCUOHATILHBIM TIEPEBOJIOM TEKCTA.

Tema. DiieKTPHUUYECTBO U COBPEMEHHOCTD

Conep:xxanne y4eOHOro MarTepuaJja



Kommnrsrotepubie TexHONIOTUU. M3yueHne JIEKCUKO - TPaMMaTUYECKOro MaTepuaa.
Tema. JexkTpoodopynoBaHue
Conepxkanue y4yeOHOro Marepuajia

Pabora ¢ tekctom- «The bipolar transistor», a Takxe BBIIOJHCHHE JIEKCHKO -
rpaMMaTHUYCCKHUX yIpakHeHu. PaboTta ¢ mpodeccHoHaIbHBIM IIEPEBOIOM TEKCTa.



2 METOJIMYECKUE YKA3AHN 1O BBITIOJTHEHUIO KOHTPOJIBHOM
PABOTEI

YcinoBueM 0mycKa K 3a4eTy sIBISIETCS BBITTOJIHEHUE KOHTPOJIBHOM paboTsl Ne 4.

[lenb KOHTPONBHBIX 3aJaHUA — OKa3aTh IOMOIIb OOYyYaroleMycsi B €ro
CaMOCTOATENbHON paboTe, a TakKe MPOBEPUTHh CTENEHb YCBOCHUS WM Y4eOHOTO
MaTepuaia, HAYMTAaHHOTO 32 JIAaHHBIA CEMECTP.

KonTtponbHoe 3amaHue B JaHHOM TmocobOuu mnpesiaraerca B 10 BapuaHrtax.
OOyyaromuiics TOJKEH BBIMIOJHUTD OJWH U3 JECATH BapUAaHTOB KOHTPOJIHHOTO 3aaHMUS.
Homep BapuanTa BeIOMpaeTcs 1o nepBoil OykBe pamMuany 00ydaromierocs no Tadule:

Bykea Homepa B Homepa
BAPHAHTOB BAPUAHTOB

A JLL X 1 E, P, 1] 6

b, M, I 2 X, C,0 /

B,H, 4 3 3, T, IO 8

0,V 4 Ny, A 9

J, 11, 1T 5 K, ® 10

OdopmileHre TUTYJIBHOTO JTUCTA (MPUJIOKEHUE A).

KoutposibHas pabota go/bKHA OBITh HAlKMCcaHa B TETPAIU YETKUM, MMOHSTHBIM
mo4yepkoM, 0e3 ucnpasieHuit. Ha ctpanuiiax padoTel caeAyeT OCTaBUTh mojs (3 cMm) s
MTOMETOK M 3aMEUaHUi TTPOBEPSIOIICTO MPETOaBaTeIsl.

JleBas cTpaHuna [IpaBas crpanuna

[Tons\ TekcT 3amanus Brinonuenue 3amanus\ [Toms

OOyuaromeMycsi clneayeT HOEepBbld JIMCT B TETPaAW OCTABUTb YUCTBIM JUIS
HaIMCaHUs 3aMEYaHul MPENogaBaTelIs.

[Ipu BbIONHEHHH PAOOTHI CIENyEeT CHayala yKas3blBaTh 3aJlaHUs KOHTPOJIBHOM
paboThl, a 3aTEM CaMO BBITIOJIHEHUE 3aaHMsL.

BbINONTHEHHYI0O KOHTPOJBHYIO paboTy oOydaromuiicss TOJDKeH HOpeICTaBUTh
[pernojaBaTesio Julsl MPOBEPKH 3a JBE HEIEAH J0 JabopaTOpHO-3K3aMEHAIlMOHHON
CECCHH.

Jlaetcs o01asi oneHKa «3adTeHa» WM «HE 3auTeHa». Ecnu paboTa He 3auTeHa, B
Hee HEOOXOJUMO BHECTH COOTBETCTBYIOUIME HCIPABICHUS C YYETOM CJHIEJaHHbBIX
3ameuanuil. [loBTopHas mpoBepka pabOThl OCYIIECTBISETCS, KaK IMPaBUIIO, TEM Ke
MpernojiaBaresieM, KOTOpPbIM peleH3upoBan ee B NepBblid pa3. OOyuaroniuecsi, He
BBITIOJIHUBIIIME KOHTPOJIbHYIO paOOTy WJIM HE MOJIYYUBIIME 3a4€Ta M0 Hel, K 3a4eTam He
JOITYCKarOTCHI.




3 3AJAHMA HA KOHTPOJIBHYIO PABOTY Ne 4

Bapuant 1

1. Translate into English. Make five sentences using the translated
collocations and any of the modal verbs (can\must\may\need).

Russian English

pabOTHHUKHU

O(I)I/IHI/IaJ'IBHaSI BBIIMKMCKA U3 JUIIJIIOMA

O(bI/IHHaJII)HaSI KOIIMs JUIIJIOMa

pPCKiIaMa

npodeccuoHaNbHbIN

MECTOHAX 0K JACHUE (PUPMBI

oOpa3oBaHue

KOMUTET 110 JIMOCH3UAM

2. Read the text and translate in written form., |

An electromotive force is induced in the conductor when there is a change
in the magnetic field surrounding a conductor. This induced electromotive force
may be produced in several ways as follows:

a. A conductor may move in a stationary magnetic field of constant strength.

b. A stationary conductor may be exposed ‘'to a moving magnetic field of constant
strength.

c. The strength of the field surrounding the conductor may change without any
motion of conductor or magnetic circuit.

The electromotive force induced by motion of a conductor or a magnetic
flux is the same when the conductor rotates and the flux is stationary or the flux
rotates and the conductor is stationary. If both, conductor and flux, rotate in the
same direction at the same speed, no electromotive force will be produced, if they
rotate at the same speed but in opposite directions, the electromotive force
induced would be twice as that which would be induced, if one of them was
stationary. An electromotive force is not induced when a conductor is moved
parallel to the lines of force, but only when it moves at an angle with these lines.

Any motion across the direction of the lines, however, will produce an
electromotive force in the conductor. For this reason, the conductor is said to
«cut» the lines of force. The actual electromotive force induced in the conductor
depends upon the nature at which the flux is cut.

The electromotive force is the very force that moves the electrons from one
point in an electric circuit towards another. In case this e. m. f. is direct, the
current is direct. On the other hand, were the electromotive force alternating, the
current would be alternating, too. The e. m. f. is measurable and it is the volt that

9



IS the unit used for measuring it. A current is unable to flow in a circuit consisting
of metallic wires alone. A source of an e. m. f. should be provided as well. The
source under consideration may be a cell or a battery, a generator, a thermocouple
or a photocell, etc.

In addition to the electromotive force and the potential difference reference
should be made to another important factor that greatly influences electrical flow,
namely, resistance. All substances offer a certain amount of opposition, that is to
say resistance, to the passage of current. This resistance may be high or low
depending on the type of circuit and the material employed. Glass and rubber offer
a very high resistance and, hence, they are considered as good insulators. All
substances do allow the passage of some current provided the potential difference
is high enough.

Certain factors can greatly influence the resistance of an electric circuit.

They are the size of the wire, its length, and type. In short, the thinner or
longer the wire, the greater is the resistance offered.

3. Give the English equivalents for the words below. Find in the text the
sentences with these words and translate them.

Russian English

TpeHUE

ANIEKTPOJBHKYIIAS CHIIA

QJICMCHT

IMapalICIIbHOC COCANHCHUC

COINPOTUBIICHUE

QJICKTPOMArduTHAsA MHAYKIUS

MIEPEMEHHBIN TOK

ITOCTOSHHOC HAIIPSI’KCHUC

(hoTOdIEMEHT

4. Guess the meaning of the following international words and translate
them.

Reaction- ...
Electrostatic-...
Electrometer-...
Electroscope-...
Volt-...
Metallic-...

5. Say whether these sentences are true (+) or false (-):

sentences (H\()

1. Alternating force always exerts its effort in one direction.

2. Alternating force is produced by electromagnetic induction.

3. The electromotive force is induced by motion of a conductor.

4. Resistance is an important factor that greatly influences

10



electrical flow.

5. The type of the material employed doesn’t influence the
resistance.

6. Answer the questions:

1) What factors cause the motion of electrons from one atom to another?

2) When is the electromotive force developed?

3) When does an electrostatic field appear?

4) How is the electromotive force induced?

5) What unit is used for measuring the electromotive force?

Bapuant 2

1.  Translate into English. Make five sentences using the translated
collocation and any of the modal verbs (can\must\may\need).

Russian English

TpeOOBaHUSI K TOCTYNAIOIUM

OIIBIT

JOKYMEHT

AHKETHBIN OJIaHK

KYpPHAJIBI

HaBBIKH1

(hMHaHCOBas MOMOIIIb

OCEHHUH CEMECTP

2. Read the text and translate in written form. |

The powerful, highly efficient generators and alternators that are in use
today operate on the same principle as the dynamo invented by the great English
scientist Faraday in 1831. Dynamo-electric machines are used to supply light, heat
and power on a large scale. These are the machines that produce more than 99.99
per cent of the entire world's electric power.

There are two types of dynamos — the generator and the alternator. The
former supplies d. c. which is similar to the current from a battery and the latter
provides a. c. To generate electricity both of them must be continuously provided
with energy from some outside source of mechanical energy such as steam
engines, steam turbines or water turbines.

A generator is an electric machine, which converts mechanical energy into
electric energy. There are direct-current (d. c.) generators and alternating current
(a. ¢.) generators. Their construction is much alike. A d. c. generator consists of
stationary and rotating elements. The stationary elements are: the yoke or the
frame and the field structure. The yoke forms the closed circuit for the magnetic
flux. The function of the magnetic structure is to produce the magnetic field.

The rotating elements are: true armature and the commutator. They are on
the same shaft. The armature consists of the core and the winding. The winding is

11




connected to the commutator. With the help of the brushes on the commutator that
conduct the electric current to the line the winding is connected to the external
circuit. The stationary element of an a. c. generator is called a stator. The rotating
element is called a rotor. The essential difference between a d. c. generator and a.
C. generator is that the former has a commutator by means of which the generated
e. m. f. is made continuous; i. e. the commutator mechanically rectifies the
alternating e. m. f. so that it is always of the same polarity.

D. c. generators are used for electrolytic processes such as electroplating.
Large d. c. generators are employed in such manufacturing processes as steel
making. The d. c. generator of small capacities is used for various special
purposes such as arc welding, automobile generators, train lighting systems, etc. It
also finds rather extensive use in connection with communication systems.

3. Give the English equivalents for the words below. Find in the text the
sentences with these words and translate them.

Russian English

MOIIIHOCTD

HHU3Kas CMKOCTb

CTaHHOHapHBIﬁ QJICMCHT

Bpalaromuccs 3JICMCHTBI

Te€HEPATOPHI

JIBa TUIA\BU1a

AJIEKTPUYECKUN TOK

pa3HuIla MEXKY

CTaTop

4. Guess the meaning of the following international words and translate
them.

System- ...
Electrolytic -...
Electrometer-...
Electroscope-...
Generator-...
Metallic-...

5. Say whether these sentences are true (+) or false (-):

sentences (H)\()

1. There are five types of dynamos.

2. A generator is an electric machine.

3. The rotating elements are: true armature and the commutator.

4. It also finds rather extensive use in connection with each
system.

5. D. c. generators are used for electrolytic processes such as

12




| electroplating.

6. Answer the questions:

1) What types of dynamos do you know?

2) What are dynamo-electric machines used to?

3) What does the armature consist of?

4) What type of a machine is the generator?

5) What do you know about the commutator?

Bapuanr 3

1.  Translate into English. Make five sentences using the translated
collocation and any of the modal verbs (can\must\may\need).

Russian English

CHIUCOK JUCIUILINH

IMPHUCM B Ka4CCTBC CTYJICHTA

CAaThb JK3aMCH

AHKETHBIN OJTaHK

MMpCACTAaBUTh PC3IOMC

oAPOOHBIC TaHHBIE

3apa60TaTb MHOI'O ACHCT

pabouwii 1eHb

2. Read the text and translate in written form. |

D. c. generators are used for electrolytic processes such as electroplating.
Large d. c. generators are employed in such manufacturing processes as steel
making. The d. c. generator of small capacities is used for various special
purposes such as arc welding, automobile generators, train lighting systems, etc. It
also finds rather extensive use in connection with communication systems. There
are two types of dynamos — the generator and the alternator. The former supplies
d. c. which is similar to the current from a battery and the latter provides a. c. To
generate electricity both of them must be continuously provided with energy from
some outside source of mechanical energy such as steam engines, steam turbines
or water turbines.

The powerful, highly efficient generators and alternators that are in use
today operate on the same principle as the dynamo invented by the great English
scientist Faraday. Dynamo-electric machines are used to supply light, heat and
power on a large scale. These are the machines that produce more than 99.99 per
cent of the entire world's electric power.

The stationary element of an a. c. generator is called a stator. The rotating
element is called a rotor. The essential difference between a d. c. generator and a.
C. generator is that the former has a commutator by means of which the generated
e. m. f. is made continuous; i. e. the commutator mechanically rectifies the
alternating e. m. f. so that it is always of the same polarity. A generator is an
electric machine, which converts mechanical energy into electric energy. There
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are direct-current (d. c.) generators and alternating current (a. c.) generators. Their
construction is much alike. A d. c. generator consists of stationary and rotating
elements. The rotating elements are: true armature and the commutator. They are
on the same shaft. The armature consists of the core and the winding.

The winding is connected to the commutator. With the help of the brushes
on the commutator that conduct the electric current to the line the winding is
connected to the external circuit.

The stationary elements are: the yoke or the frame and the field structure.
The yoke forms the closed circuit for the magnetic flux. The function of the
magnetic structure is to produce the magnetic field.

3. Give the English equivalents for the words below. Find in the text the
sentences with these words and translate them.

Russian English

AJIEKTPUUYECKUN TOK

aBTOMOOUJILHBIN T€HEPATOP

o0ecIieunTh

Bpallaroniruccst 3JICMCHTBI

pama

MCXAaHHNYCCKaAs]d OHCPIUA

SJICMCHTEI

IMpoIecCC NPOU3BOJACTBA

MAarduTHBIA

4. Guess the meaning of the following international words and translate
them.

Electroscope - ...
Process -...
Metallic -...
Energy -...
Elements -...
Electrometer -...

5. Say whether these sentences are true (+) or false (-):

sentences (H\()

1. The stationary elements are: the yoke or the frame and the
field structure.

2. There are two types of dynamos — the generator and the
alternator.

3. Dynamo-electric machines are used to supply mass, heat and
power on a large scale.

4. A generator is not an electric machine.

5. The rotating element is called a rotor.
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6. Answer the questions:

1) What do you know about the commutator?

2) What does the armature consist of?

3) What types of dynamos do you know?

4) What are dynamo-electric machines used t0?

5) What type of a machine is the generator?

Bapuant 4

1.  Translate into English. Make five sentences using the translated
collocation and any of the modal verbs (can\must\may\need).

Russian English

CITMCOK JUCHHIIINH

y‘l€6HOG 3aBCACHUC

000011IeHrE CBENCHUM

oInjiarTra

3as4BJICHHUC-aHKCTAa

KOHTAKThI

noaxosias padbora

HaJCKHOCTb pa6OTHI/IKa

2. Read the text and translate in written form. |

Ammeters and voltmeters are made to operate on the same principle. The
two principle kinds are the moving coil and moving iron types.

The electro-magnetic effect of the current is the one chiefly made use of for
measuring purposes. Moving iron instruments employ this effect. The moving-
iron instrument consists of a fixed coil of wire carrying the current which
magnetizes a small piece of soft iron mounted on the instrument spindle. In
construction there are two varieties: the repulsion type having two pieces of iron;
and the attraction type having only one.

In the attraction type of the instrument the bobbin carrying the wire is
oblong instead of circular, and has only a narrow slot-shaped opening in the
center.

A thin flat piece of iron, which is mounted on the instrument spindle, is
sucked into this opening by magnetic attraction when the current flows. Either
gravity or spring control can be used on moving-iron instruments and damping is
usually by means of an air-dash-pot.

A moving-coil instrument may be compared to a miniature direct-current
motor in which the armature never moves more than about a quarter of a
revolution.
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When a current flows through the coil of a moving-coil type ammeter, it
becomes a magnet, one face being of north, and the other of south polarity.

These poles are attracted by the poles of opposite polarity of the permanent
magnet, and the coil tends to turn until its axis is parallel with the line joining the
pole pieces of the permanent magnet. This movement is proportional to the
current flowing and is opposed by the control springs. A pointer fixed to the coils
moves over a graduated scale and indicates the current flowing in amperes. The
scale of this type of instrument is evenly divided, but the positive terminal must be
connected to the positive terminal of the supply or the instrument tends to read
backward. Such an instrument is only suitable for d. c. circuits.

Moving-coil instruments are more accurate and sensitive, but more
expensive than those of moving-iron types.

3. Give the English equivalents for the words below. Find in the text the
sentences with these words and translate them.

Russian English

TOT JKC ITPUHIIUII

)Kese30\ KeJTe3HbIN

AJIEKTPUUYECKUN TOK

MaJICHbKUM KYCOYCK

TI/IH\paBHOBI/II[HOCTB

UHCTPYMEHT

MOJISIPHOCTh

MOCTOSHHBIN

MOJIXOONUTH JII

4. Guess the meaning of the following international words and translate
them.

Type - ...
Permanent -...
Metallic -...
Energy -...
Indicate -...
Electrometer -...

5. Say whether these sentences are true (+) or false (-):

sentences (H\()

1. A moving-coil instrument may not be compared to a
miniature direct-current motor.

2. In the attraction type of the instrument the bobbin carrying the
wire is not oblong instead of circular.

3. This movement is proportional to the current flowing and is
opposed by the control springs.
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4. Moving-coil instruments are more accurate and sensitive.

5. A pointer fixed to the coils moves over a graduated scale and
indicates the current flowing in amperes.

6. Answer the questions:

1) What are the two principle kinds of ammeters and voltmeters?

2) What is the construction of a moving iron instrument?

3) What are the two types of moving iron instrument?

4) How does a moving coil instrument work?

5) What instrument is suitable only for d.c.?

Bapuanr 5

1.  Translate into English. Make five sentences using the translated
collocation and any of the modal verbs (can\must\may\need).

Russian English

JOTIOJTHUTENbHAs HH(MOpMALIHS

oInjiaTra

00BSIBJICHUS O TPUEME Ha paboTy

PCKOMCH A

ciyk0a TpyI0yCTpOICTBA

MEIUIIMHCKOE 00CIIEI0BAHIE

paspenieHue Ha paboTy

JINYHBINA JINCTOK

2. Read the text and translate in written form. |

The electromotive force is the very force that moves the electrons from one
point in an electric circuit towards another. In case this e. m. f. is direct, the
current is direct. On the other hand, were the electromotive force alternating, the
current would be alternating, too. The e. m. f. is measurable and it is the volt that
is the unit used for measuring it. A current is unable to flow in a circuit consisting
of metallic wires alone. A source of an e. m. f. should be provided as well. The
source under consideration may be a cell or a battery, a generator, a thermocouple
or a photocell, etc.

The electromotive force induced by motion of a conductor or a magnetic
flux is the same when the conductor rotates and the flux is stationary or the flux
rotates and the conductor is stationary. If both, conductor and flux, rotate in the
same direction at the same speed, no electromotive force will be produced, if they
rotate at the same speed but in opposite directions, the electromotive force
induced would be twice as that which would be induced, if one of them was
stationary. An electromotive force is not induced when a conductor is moved
parallel to the lines of force, but only when it moves at an angle with these lines.

An electromotive force is induced in the conductor when there is a change
in the magnetic field surrounding a conductor. This induced electromotive force
may be produced in several ways as follows:
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a. A conductor may move in a stationary magnetic field of constant strength.

b. A stationary conductor may be exposed 'to a moving magnetic field of constant
strength.

c. The strength of the field surrounding the conductor may change without any
motion of conductor or magnetic circuit.

In addition to the electromotive force and the potential difference reference
should be made to another important factor that greatly influences electrical flow,
namely, resistance. All substances offer a certain amount of opposition, that is to
say resistance, to the passage of current. This resistance may be high or low
depending on the type of circuit and the material employed. Glass and rubber offer
a very high resistance and, hence, they are considered as good insulators. All
substances do allow the passage of some current provided the potential difference
is high enough.

Certain factors can greatly influence the resistance of an electric circuit.

They are the size of the wire, its length, and type. In short, the thinner or
longer the wire, the greater is the resistance offered.

Any motion across the direction of the lines, however, will produce an
electromotive force in the conductor. For this reason, the conductor is said to
«cut» the lines of force. The actual electromotive force induced in the conductor
depends upon the nature at which the flux is cut.

3. Give the English equivalents for the words below. Find in the text the
sentences with these words and translate them.

Russian English

MIEPEMEHHBIN TOK

ITOCTOSAHHOC HAIIPSAKCHHC

QJICMCHT

IMapalICIIbHOC COCANHCHUC

CONPOTUBIICHUE

boTOdIEMEHT

TpeHUe

QJICKTPOABMIKYIIAs CHUJIa

QJICKTPOMArdHuTHASA MHAYKIUSA

4. Guess the meaning of the following international words and translate
them.

Conductor - ...
Electrostatic-. ..
Electrometer-...
Electromotive -...
Reactor-...
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| Metallic-...

5. Say whether these sentences are true (+) or false (-):

sentences (H\(0)

1. Resistance is an important factor that greatly influences
electrical flow.

2. The type of the material employed doesn’t influence the
resistance.

3. The electromotive force is induced by motion of a conductor.

4. Alternating force always exerts its effort in one direction.

5. Alternating force is produced by electromagnetic induction.

6. Answer the questions:

1) What are the sources of electromotive force?

2) When is the electromotive force developed?

3) What is called “resistance”?

4) How do the types of circuit and material influence the resistance?

5) Name the factors that influence the resistance.

Bapuanr 6

1. Translate into English. Make five sentences using the translated
collocation and any of the modal verbs (can\must\may\need).

Russian English

PYKOBOJICTBO (ITI€YaTHOE U3IAHUE)

IIPUEM B Ka4CCTBC CTYACHTA

HaBBbIKH

poBEpKa

IPEITPUHUMATEIIN

yueOHOe 3aBeJIeHNe

OK3aMCH I10 BOXJICHHUIO aBTOMOOMIIS

0OBSIBJICHUS O TPUEME Ha PaboTy

pPEKOMEHIAIus

| 2. Read the text and translate in written form. |
An induction motor like any other motor consists of a stationary part, the
stator, and a rotating part, the rotor. The rotor of an induction motor is not connected
electrically to the source of power supply. The currents which circulate in the rotor
conductors are the result of voltage induced in the rotor in the magnetic field set up
by the stator. The rotor is fitted with a set of conductors in which currants flow. As
these conductors lie in the magnetic field produced by the stator, a force is exerted on
the conductors and the rotor begins to revolve. The operation of the motor depends
upon the production of a rotating magnetic field. The speed at which the field of an
induction motor turns is called the synchronous speed of the field or of the motor.
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The induction motor is the simplest of the various types of electric motors and
it has found more extensive application in industry than any other type. It is made in
two forms — the squirrel cage and the wound rotor, the difference being in the
construction of the rotor.

The stator of the induction motor has practically the same slot and winding
arrangement as the alternator and has the coils arranged to form a definite number of
poles, the number of poles being a determining factor in connection with the speed at
which the motor will operate. The rotor construction, however, is entirely different.

The squirrel-cage rotor is a simpler form and has been used in many machines.
Instead of coils the winding consists of heavy copper bars.

The wound-rotor type has a winding made up of well-insulated coils, mounted
in groups whose end connections are brought out to fill in rings. The purpose of this
winding is to provide for variation in the amount of resistance included in the rotor
circuit.

Provision for ventilation is made by leaving passageways through the core and
frame, through which air is forced by fan vanes mounted on the rotor. In main cases
the motors now built in as an integral part of the machine it is to drive,

There being no electrical connection between the rotor circuits of the
induction motor and the stator circuits, or supply line, the currents which flow in the
rotor bars or windings correspond to the induced voltages, the action being similar to
that of a transformer with a movable secondary. With but a single phase winding on
the stator, however, the torques produced in the two halves of the rotor would be in
apposition, and the motor would not start. With more than one set of windings two
for a two-phase motor, three for a three-phase motor a resultant field is produced
which has the effect of cutting across the rotor conductors and induces voltages in
them. This field is considered to be revolving at uniform speed.

The term “revolving field” should not be taken to mean actual revolution of
flux lines. The magnetic field from the coils of each phase varies in strength with
changes in current value but does not move around the stator. The revolutions are
those of the resultant of the three, or two, phases, as the case may be.

A motor with a single-phase winding is not self-starting but must be provided
with an auxiliary device of some kind to enable the motor to develop a starting
torque. The effect of the revolving field is the same as would result from actual
revolution of a stator having direct-current poles. As voltages have been induced in
the bars or windings of the rotor, currants start flowing as a result of these voltages,
and a torque is produced which brings the motor up to speed.

3. Give the English equivalents for the words below. Find in the text the
sentences with these words and translate them.

Russian English

PIH)IYKHI/IOHHBIﬁ MOTOD

CTaqMOHapHas 4aCTb

MAarauTHOC II0JIC

¢dakTop

MOTOD

pa3BUBATH
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otnenbHas Basza

HaIpsHKEHUE

CKOPOCTH\ YCKOPCHHE

4. Guess the meaning of the following international words and translate them.

Rotor - ...
Electrolytic -...
Actual -...
System -...
Voltage-...
Electrometer -...

5. Say whether these sentences are true (+) or false (-):

sentences

(H\0)

1. An induction motor like any other motor consists of a stationary
part, the stator, and a rotating part, the rotor.

2. The operation of the motor does not depend upon the production
of a rotating magnetic field.

3. The wound-rotor type has a winding made up of well-insulated
coils, mounted in groups whose end connections are brought out to
fill in rings.

4. The rotor of an induction motor is not connected electrically to
the source of power supply.

5. The effect of the revolving field is the same as would result from
actual revolution of a stator having direct-current poles.

6. Answer the questions:

1) What is an induction motor?

2) Is the rotor fitted with a set of conductors in which currants flow.?

3) What parts does the induction motor consist of?

4) What are the names of its rotating and stationary parts?

5) What does the motor operation depend on?

Bapuanr 7

1. Translate into English. Make five sentences using the translated
collocation and any of the modal verbs (can\must\may\need).

Russian English

paspenieHue Ha paboTty

MMPCACTABHUTL PE3IOMC

OCEHHUH CEMECT]

po()eCCHOHATTLHBIN OTBIT

JIMYHBIC Ka4CCTBa

paboumii OMbBIT
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(¢uHaHCOBAs MOMOIITH

JIUIIEH3US

2. Read the text and translate in written form. |

The rotating elements are: true armature and the commutator. They are on
the same shaft. The armature consists of the core and the winding. The winding is
connected to the commutator. With the help of the brushes on the commutator that
conduct the electric current to the line the winding is connected to the external
circuit.

The stationary element of an a. c. generator is called a stator. The rotating
element is called a rotor. The essential difference between a d. c. generator and a.
C. generator is that the former has a commutator by means of which the generated
e. m. f. is made continuous; i. e. the commutator mechanically rectifies the
alternating e. m. f. so that it is always of the same polarity. A generator is an
electric machine, which converts mechanical energy into electric energy. There
are direct-current (d. c.) generators and alternating current (a. c.) generators. Their
construction is much alike. A d. c. generator consists of stationary and rotating
elements. There are two types of dynamos — the generator and the alternator. The
former supplies d. c. which is similar to the current from a battery and the latter
provides a. c. To generate electricity both of them must be continuously provided
with energy from some outside source of mechanical energy such as steam
engines, steam turbines or water turbines. The powerful, highly efficient
generators and alternators that are in use today operate on the same principle as
the dynamo invented by the great English scientist Faraday. Dynamo-electric
machines are used to supply light, heat and power on a large scale. These are the
machines that produce more than 99.99 per cent of all the world's electric power.

The stationary elements are: the yoke or the frame and the field structure.
The yoke forms the closed circuit for the magnetic flux. The function of the
magnetic structure is to produce the magnetic field.

D. c. generators are used for electrolytic processes such as electroplating.
Large d. c. generators are employed in such manufacturing processes as steel
making. The d. c. generator of small capacities is used for various special
purposes such as arc welding, automobile generators, train lighting systems, etc. It
also finds rather extensive use in connection with communication systems.

3. Give the English equivalents for the words below. Find in the text the
sentences with these words and translate them.

Russian English

AJICKTPUYECKUN TOK

HU3Kas1 CEMKOCTb

JIBa TUIA\BU1a

BpalllaromiecCs 3JICMCHTBI

CTaTop

CTallMOHAPHBIN AJIEMEHT

MOIIIHOCTD

22



pa3HUIA MEKTY

Te€HEPATOPBI

4. Guess the meaning of the following international words and translate
them.

Electroscope - ...
Electrolytic -...
Metallic -...
System -...
Generator-...
Electrometer -...

5. Say whether these sentences are true (+) or false (-):

sentences (H\()

1. D. c. generators are used for electrolytic processes such as
electroplating.

2. The rotating elements are: true armature and the commutator.

3. A generator is an electric machine.

4. It also finds rather extensive use in connection with each
system.

5. There are two types of dynamos.

6. Answer the questions:

1) What does the armature consist of?

2) What do you know about the commutator?

3) What types of dynamos do you know?

4) What type of a machine is the generator?

5) What are dynamo-electric machines used to?

Bapuanr 8

1. Translate into English. Make five sentences using the translated
collocation and any of the modal verbs (can\must\may\need).

Russian English

CJIYXUTb B apMHU

PEJI0KEHHUSI

0000111eHHE CBEEHUI

JOKYMEHT

MHTEPECHI

PEKOMEHTAIUU

3apaboTaTh MHOTO JICHET

noaxoJsias padora
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2. Read the text and translate in written form. |

The stator of the induction motor has practically the same slot and winding
arrangement as the alternator and has the coils arranged to form a definite number
of poles, the number of poles being a determining factor in connection with the
speed at which the motor will operate. The rotor construction, however, is entirely
different.

The squirrel-cage rotor is a simpler form and has been used in many machines.

Instead of coils the winding consists of heavy copper bars.
The wound-rotor type has a winding made up of well-insulated coils, mounted in
groups whose end connections are brought out to fill in rings. The purpose of this
winding is to provide for variation in the amount of resistance included in the
rotor circuit.

Provision for ventilation is made by leaving passageways through the core and
frame, through which air is forced by fan vanes mounted on the rotor. In main
cases the motors now built in as an integral part of the machine it is to drive.

There being no electrical connection between the rotor circuits of the induction
motor and the stator circuits, or supply line, the currents which flow in the rotor
bars or windings correspond to the induced voltages, the action being similar to
that of a transformer with a movable secondary. With more than one set of
windings two for a two-phase motor, three for a three-phase motor a resultant field
is produced which has the effect of cutting across the rotor conductors and induces
voltages in them. This field is considered to be revolving at uniform speed.

The term “revolving field” should not be taken to mean actual revolution of
flux lines. The magnetic field from the coils of each phase varies in strength with
changes in current value but does not move around the stator. The revolutions are
those of the resultant of the three, or two, phases, as the case may be.

A motor with a single-phase winding is not self-starting but must be provided
with an auxiliary device of some kind to enable the motor to develop a starting
torque. The effect of the revolving field is the same as would result from actual
revolution of a stator having direct-current poles. As voltages have been induced
in the bars or windings of the rotor, currants start flowing as a result of these
voltages, and a torque is produced which brings the motor up to speed. An
induction motor like any other motor consists of a stationary part, the stator, and a
rotating part, the rotor. The rotor of an induction motor is not connected
electrically to the source of power supply. The currents which circulate in the rotor
conductors are the result of voltage induced in the rotor in the magnetic field set
up by the stator. The rotor is fitted with a set of conductors in which currants flow.
As these conductors lie in the magnetic field produced by the stator, a force is
exerted on the conductors and the rotor begins to revolve. The operation of the
motor depends upon the production of a rotating magnetic field. The induction
motor is the simplest of the various types of electric motors and it has found more
extensive application in industry than any other type. It is made in two forms — the
squirrel cage and the wound rotor, the difference being in the construction of the
rotor.
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3. Give the English equivalents for the words below. Find in the text the
sentences with these words and translate them.

Russian English

dakxTop

CTallMOHapHag 4acCTb

oT/ieNbHas (haza

WHIYKIIMOHHBIA MOTOD

MOTOD

pa3BUBATH

MardmMTHOC€ I10JIC

HAIIPSKCHUC

YCKOpEHHE

4. Guess the meaning of the following international words and translate
them.

Motor - ...
Voltage -...
Actual -...
System -...
Electrolytic -...
Electrometer -...

5. Say whether these sentences are true (+) or false (-):

sentences (H\()

1. The wound-rotor type has a winding made up of well-
insulated coils, mounted in groups whose end connections are
brought out to fill in rings.

2. The rotor of an induction motor is not connected electrically
to the source of power supply.

3. An induction motor like any other motor consists of a
stationary part, the stator, and a rotating part, the rotor.

4. The operation of the motor does not depend upon the
production of a rotating magnetic field.

5. The effect of the revolving field is the same as would result
from actual revolution of a stator having direct-current poles.

6. Answer the questions:

1) What does the motor operation depend on?

2) Is the rotor fitted with a set of conductors in which currants flow?

3) How can the difference between stator and rotor construction be explained?

4) What are the names of its rotating and stationary parts?

5) What does the term “revolving field” mean?
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Bapuanr 9

1. Translate into English. Make five sentences using the translated
collocation and any of the modal verbs (can\must\may\need).

Russian English

pabouee Bpems

IIPETEHI0BATh Ha. .. (paboTy)

KOIIMA CBUICTCIIBCTBA

3as41BJICHHUC-aHKECTA

otO0p pabOTHHKA

I'paMOTHO ITKUCATb

paboTaTh aKKypaTHO

TPYJOBOM CTAXK

2. Read the text and translate in written form. |

The squirrel-cage rotor is a simpler form and has been used in many
machines.

Instead of coils the winding consists of heavy copper bars. The wound-rotor
type has a winding made up of well-insulated coils, mounted in groups whose end
connections are brought out to fill in rings. The purpose of this winding is to
provide for variation in the amount of resistance included in the rotor circuit. The
stator of the induction motor has practically the same slot and winding
arrangement as the alternator and has the coils arranged to form a definite number
of poles, the number of poles being a determining factor in connection with the
speed at which the motor will operate. The rotor construction, however, is entirely
different.

There being no electrical connection between the rotor circuits of the induction

motor and the stator circuits, or supply line, the currents which flow in the rotor
bars or windings correspond to the induced voltages, the action being similar to
that of a transformer with a movable secondary. With more than one set of
windings two for a two-phase motor, three for a three-phase motor a resultant field
is produced which has the effect of cutting across the rotor conductors and induces
voltages in them. This field is considered to be revolving at uniform speed.
The term “revolving field” should not be taken to mean actual revolution of flux
lines. The magnetic field from the coils of each phase varies in strength with
changes in current value but does not move around the stator. The revolutions are
those of the resultant of the three, or two, phases, as the case may be.

Provision for ventilation is made by leaving passageways through the core
and frame, through which air is forced by fan vanes mounted on the rotor. In main
cases the motors now built in as an integral part of the machine it is to drive.

A motor with a single-phase winding is not self-starting but must be
provided with an auxiliary device of some kind to enable the motor to develop a
starting torque. The effect of the revolving field is the same as would result from
actual revolution of a stator having direct-current poles. As voltages have been
induced in the bars or windings of the rotor, currants start flowing as a result of
these voltages, and a torque is produced which brings the motor up to speed. An
induction motor like any other motor consists of a stationary part, the stator, and a
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rotating part, the rotor. The rotor of an induction motor is not connected
electrically to the source of power supply. The currents which circulate in the rotor
conductors are the result of voltage induced in the rotor in the magnetic field set
up by the stator. The rotor is fitted with a set of conductors in which currants flow.

The operation of the motor depends upon the production of a rotating
magnetic field. The induction motor is the simplest of the various types of electric
motors and it has found more extensive application in industry than any other
type. It is made in two forms — the squirrel cage and the wound rotor, the

difference being in the construction of the rotor.

3. Give the English equivalents for the words below. Find in the text the
sentences with these words and translate them.

Russian English

(dakTop

oT/ieNbHas (haza

MAarouTHOC II0JIC

WHAYKITMOHHBIA MOTOP

MOTOD

pa3BUBATH

CTaqMOHAapHasA 4aCTb

HaIpsKEHUE

yCKOpEHUe

them.

4. Guess the meaning of the following international words and translate

Actual - ...
Voltage -...
Motor -...
Electrometer -...
Electrolytic -...
System -...

5. Say whether these sentences are true (+) or false (-):

sentences

(H\G)

1. The rotor of an induction motor is not connected electrically
to the source of power supply.

2. The wound-rotor type has a winding made up of well-
insulated coils.

3. The operation of the motor does not depend upon the
production of a rotating magnetic field.

4. An induction motor like any other motor consists of a
stationary part, the stator, and a rotating part.

5. The effect of the revolving field is the same as would result
from actual revolution of a stator having direct-current poles.
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6. Answer the questions:

1) What does the term “revolving field” mean?

2) Is the rotor fitted with a set of conductors in which currants flow?

3) How can the difference between stator and rotor construction be explained?

4) What are the names of its rotating and stationary parts?

5) What does the motor operation depend on?

Bapuant 10

1.  Translate into English. Make five sentences using the translated
collocation and any of the modal verbs (can\must\may\need).

Russian English

HOHOHHHTGHBHaﬂIHﬂbOpMaHHH

OIlIaTa

00BSIBJICHUS O TPUEME Ha paboTy

PEKOMEH Al

ciy>k0a Tpyn0yCTpoiicTBa

MEIUIIMHCKOE 00CIIEIOBAHIE

paspenieHue Ha paboTy

JINYHBINA JINCTOK

2. Read the text and translate in written form. |

The electro-magnetic effect of the current is the one chiefly made use of for
measuring purposes. Moving iron instruments employ this effect.

The moving- iron instrument consists of a fixed coil of wire carrying the
current which magnetizes a small piece of soft iron mounted on the instrument
spindle. In construction there are two varieties: the repulsion type having two
pieces of iron; and the attraction type having only one.

In the attraction type of the instrument the bobbin carrying the wire is
oblong instead of circular, and has only a narrow slot-shaped opening in the
center. Ammeters and voltmeters are made to operate on the same principle. The
two principle kinds are the moving coil and moving iron types.

A thin flat piece of iron, which is mounted on the instrument spindle, is
sucked into this opening by magnetic attraction when the current flows. Either
gravity or spring control can be used on moving-iron instruments and damping is
usually by means of an air-dash-pot.

When a current flows through the coil of a moving-coil type ammeter, it
becomes a magnet, one face being of north, and the other of south polarity.
Moving-coil instruments are more accurate and sensitive, but more expensive than
those of moving-iron types.

These poles are attracted by the poles of opposite polarity of the permanent
magnet, and the coil tends to turn until its axis is parallel with the line joining the
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pole pieces of the permanent magnet. This movement is proportional to the
current flowing and is opposed by the control springs.

A pointer fixed to the coils moves over a graduated scale and indicates the
current flowing in amperes. The scale of this type of instrument is evenly divided,
but the positive terminal must be connected to the positive terminal of the supply
or the instrument tends to read backward.

Such an instrument is only suitable for d. c. circuits. A moving-coil
instrument may be compared to a miniature direct-current motor in which the
armature never moves more than about a quarter of a revolution.

3. Give the English equivalents for the words below. Find in the text the
sentences with these words and translate them.

Russian English

TUI\Pa3HOBHIHOCTh

MOIXOIUTH IS

BJIGKTpI/ILIGCKI/Iﬁ TOK

MaJICHbKUM KYCOYCK

ToT ke mpUHIUIIT

MMOCTOSIHHBIN

MOJISIPHOCTh

MHCTPYMEHT

)Kese30\ KeJIe3HbIN

4. Guess the meaning of the following international words and translate
them.

Type - ...
Permanent -...
Fixed -...
Electrometer -...
Indicate -...
Energy -...

5. Say whether these sentences are true (+) or false (-):

sentences (H\()

1. Moving-coil instruments are more accurate and sensitive.

2. This movement is proportional to the current flowing and is
opposed by the control springs.

3. In the attraction type of the instrument the bobbin carrying the
wire is not oblong instead of circular.

4. A pointer fixed to the coils moves over a graduated scale and
indicates the current flowing in amperes.

5. A moving-coil instrument may not be compared to a
miniature direct-current motor.
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6. Answer the questions:

1) What instruments are more expensive and sensitive: moving coil or moving
iron instruments?

2) What instrument is suitable only for d. c.?

3) What are the two types of moving iron instrument?

4) How does a moving coil instrument work?

5) What is the construction of a moving iron instrument?
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